BEELRONE Z Vi E:z=Xx+ ]y
BRBEERTE X+ Y W E s wix, y) =u(x, y) + jv(x,y)
MREAE R EL  r(cosd+ jsind)

ML Argz+2nz=60+2nx (n 3550
FAF5—nnk e’ =cosf+ jsind
NEFIR (2" =2, 2=YZ ) (nfEDOHR)

e
z=Re » (m=012,--,n=-1) Bl: f(2) =2, - Lz=x+jyDy=xt7%
f(z)=u+jv
2.1 REH 2" = (x+Jy)" = (X" = y*) + j2xy
fEEBIE y=a" FEEL, A LR
T BE% y=log, x (B#AXElogx, p.33) u=x’-y*, v=2xy
—fB% y=sinx, cosX, tanXx y=Xx&ZRAT5L, u=0, v=2x" &0
W= B y=sinTx, cos™ x, tant x 2=+ j)x < f(2)=2jx°
S B h :ex+e’*’ inh :e*—e’*
PRI cosh x sinhx 55— B RIS AT RS2 A £ (x))
X —X 2 X —X 2 = f(n)(xo) n o 2 U7 K . L
coshzx—sinhZX:(e e j _(e —° J F(x)=2 nl (X=%) -~ EREFORATHE
2 2 o Nt
1 X —2X X —2X ! "
=l a2 ) (e 2 re <1 f(x)=f(xo)+filx°)(x—xo)+ : §|X°)<x—xo)2+
X, g7 (%) n
(COShX):e +e T(X_)(O) 4.
o f(n)(o) .
o - X =0DEX f(x)=)] X" (wzm—)
2 R BB (52R8 %0 o n!
Bl f(xy)=x>+y>=r? Bz,
» 1., 1, 1., 1,
BT DHEy=t0r =x*, X +y* =1 e :1+X+EX re X =
1 23 IEMBR (Elfe LT 2)
. . TREE 38
- 0
\j f(z)=¢ =1+z+£z2 +Ez3+~--+iz” o
2 6 n!
) B DR
FECTHDHIDITITr > x> —r e’ xe”
:(1+zl+1212+---j[l+zz+lzzz+---]
2 2
22 EFBEHLEF . .
2 DOEFH O S E TR ST 55D =1+(z,+17,) +E(Zl +1,)° +'“m(21 +12,)" +

:k — e21+22
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f(z)=e’ =¥ =¢e*e” =e*(cosy + jsiny)
cos y,siny 1% 27z o JE HIES %L

FoT, e bR LD,

2.4 ZAE%K

Taylor F2BA : 245D = B%U

COSXZl-lXZ +ix4 _i 6 +...+iz” 4
2 24 720 n!

WETER (mITARE)
f(z)=cosz

1 1 1
=1-=2"X+—2" =+ ()" ——2"" +
2 24

(2m)!
f(z)=sinz
1 1 1
:Z——23+_25_"'+(_1)m— 2m+1
6 120 2m +1)!

FRPAEE TR (AT — DN R B IRT)

el et

iz _ a2

¥ —e’!
2]

COSZ =

, sinz=

COoSzZ =

=cos(x+ jy)= 5

- %{e’y (cosx+ jsinx)+e’ (cosx — jsinx)}

1 _ . o\
:—{(ey +e)cosx— j(e' —e y)smx}
2
=cosxcoshy— jsinxsinhy
NNiEE BRSNS SLH
cos(z, £z,) =C€0SZz €0SZ, FSinz Sinz,
sin(z, £ z,) =sinz, cosz, £cosz,sinz,

ej(z1+zz) + e—j(z1+zz)
2

cos(z, +2,) =

€0SZ,€0SZ, —Sinz,sin z,

ejzl +e—jzl esz +e—jzz ejzl _e_jzl ejzz _e—jzz

2 2 2] 2]
ej(21+zz)+ej(21_22)+ej(zz_z1) +e‘j(z1+zz)
= +
4
ej(21+zz) _ej(z1*22) _ej(zzle) + e*j(zfrzz)
4
ej(zfrzz)_i_e*j(zfrzz)
2

ejz +e’jz ej(x+jY) +e’j(x+jy)

2-2
W =4 B
f(z)=sin"z, cos*z, tan"z

fR<: costz=w— 7 =cosw

2.5 W Hh#RBE L

z -z z -z

gl +e ) e’ —e
TFHE coshz= , sinhz=

e’ =coshz+sinhz, e’ =coshz-sinhz

cosh? z —sinh?z =1

Bt B & = 4 BB D BE LR

iz -z

e
cosz=cosh(jz) (cosz= = cosh(jz) )

sinz=—jsinh(jz) (sinh(jz)= jsinz)
cosh z = cos( jz)

sinh z = —jsin(jz)

cosh(z, £ z,) = cosh z, cosh z, £ sinh z; sinh z,
sinh(z, = z,) =sinh z, cosh z, £ cosh z; sinh z,
cosz =cosxcosh y — jsinxsinhy

sinz =sinxcosh y + jcos xsinh z

2.6 XTHEH

FREBAE DU E L TEHE

f(z)=w=e"Jb, z=logw,

BHEANNEZT, w=logz & z=¢"
BT EMERSH LD T, =" 25T,
2=e"V L7022, L OOEE 2 1Zx L Clogz 133K
DAl ZFD DT w = log z 1326 B %L,
(FREEEEF R &~ 0)

logz =log(re’’) =logr + j(@+ 2nz) (n#&%)
n=0DfEZ /LD, KLFTTET
logz=Logz+ j2nx

z=10D&%=logl

1 OOEFITH LT 1 SOfEZ D : — 1B %k

2.7 NEFEH
f (Z) — Zc _ (elog1)c _ eclogz (C %E%djﬁ, 7+ 0)
2° =" LY



